Assembly Instruction

Two or more people are required for assembiy

NOTE :

’

ents

Compon

— )
%/
P g
2 b v
<t (00)
)  \
(0))

@)
9 o
< ~
™ N~

_ .

— R

S\@
O c..
o o
— N
(Q\| (o)
o /=y,
O n
o m \.
= | :
— O

1/12



(9 |2PCS )

10[2PCS ]

12|1PC )

21|2PCS ]

23|1PC

24|1PC ]

A [3PCS ) B [2PCS ) Cl4PCS ) D [13PCS/
N\ S \
) ) <
4 g @ P
F D QY QY
9 M6x20 M8x30 M8x40 M8x30 D

2/12



(E [36PCS F [24PCS G [4PCS ] H [25PCS)
\{ﬂ‘g‘i@ﬁ _ 4
5 . o
M5x35 ST4x14 M4x6 o 15x10
| [25PCS J [22PCS L [1PC M|[1PC
® 6x30 M5 M8
N [1PC ] K|[1PC
g
e ses
\_

3/12




® 7x40

11pcs

¢ 6x30

10pcs

When installing the light belt,
ensure that the two ends do 2
not exceed the installation

positions of parts 11 and 12.

Lock all screws tightly

t

3pcs

A

Do not fully tighten
the screws yet.

¢ 15x10

4pcs

AN
4/12



E [ImR 2ncs
M5x35

5/12



10

Es

©

Part H in Step 4 cannot be

tightened when installing this step.

E sy 2pcs
M5x35

10 P

A

Fully tighten all the
screws.







M5x35

¢ 6x30




9/12




10/12







uired

emble with part@.

Attach part@to the wall as re

and ass

-

12/12




